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Autumn Test 5

Name: Class Date

1 =7+9+3 D 2| Lofia= D

3|3+1= q |1 _2_
. ‘o .
5 | 65- = 48 D 6 | 9x4= D
7 | 638+ 252 = D 8 | 563+ =742 D
M| 6x25= D 12| 7X3x3= D
15 | 532,856 + 100,000 = D 16 | 0.07 — 0.01 = D
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Autumn Test 5 (continued)

17 =50X8 D 18 = 78,429 — 8742 D
19 | 763,426 — 98,764 = D 20| 4.267 X 1000 = D
21| 8256 X7 = D 22| 7864 =+ 4 = D
8 2
_ 5 — —
25 =3 X2 D 26| 75.402 — 8.8 D
27 > 28 2
X 2 X
(2 marks) (2 marks)
( Total marks / 30)
How well did you do? R T 7 Ts Twalelsla
Colour the numbers of the questions B a5 16l 102
ou got correct.
youg X 6 9|21 2|21]|25/|27]28
- 311022
Fractions 2 4 |24 | 25
Decimals 16 | 20 | 23 | 26
Missing 5 8 |10
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